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QUESTION 1
You are developing a MapReduce job for sales reporting. The mapper will process input keys representing the year
(IntWritable) and input values representing product indentifies (Text). Indentify what determines the data types used by

the Mapper for a given job.

A. The key and value types specified in the JobConf.setMaplnputKeyClass and JobConf.setMaplnputValuesClass
methods

B. The data types specified in HADOOP_MAP_DATATYPES environment variable

C. The mapper-specification.xml file submitted with the job determine the mapper\\'s input key and value types.
D. The InputFormat used by the job determines the mapper\\'s input key and value types.

Correct Answer: D

The input types fed to the mapper are controlled by the InputFormat used. The default input format,
"TextlnputFormat," will load data in as (LongWritable, Text) pairs. The long value is the byte offset of the
line in the file. The Text object holds the string contents of the line of the file.

Note: The data types emitted by the reducer are identified by setOutputKeyClass()
andsetOutputValueClass(). The data types emitted by the reducer are identified by setOutputKeyClass()
and setOutputValueClass().

By default, it is assumed that these are the output types of the mapper as well. If this is not the case, the
methods setMapOutputKeyClass() and setMapOutputValueClass() methods of the JobConf class will
override these.

Reference: Yahoo! Hadoop Tutorial, THE DRIVER METHOD

QUESTION 2

Your cluster\\'s HDFS block size in 64MB. You have directory containing 100 plain text files, each of which is 100MB in
size. The InputFormat for your job is TextinputFormat. Determine how many Mappers will run?

A. 64

B. 100

C. 200

D. 640

Correct Answer: C

Each file would be split into two as the block size (64 MB) is less than the file size (100 MB), so 200 mappers would be
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running.
Note:

If you\\'re not compressing the files then hadoop will process your large files (say 10G), with a number of mappers
related to the block size of the file.

Say your block size is 64M, then you will have ~160 mappers processing this 10G file (160*64 ~= 10G). Depending on
how CPU intensive your mapper logic is, this might be an acceptable blocks size, but if you find that your mappers are
executing in sub minute times, then you might want to increase the work done by each mapper (by increasing the block
size to 128, 256, 512m - the actual size depends on how you intend to process the data).

Reference: http://stackoverflow.com/questions/11014493/hadoop-mapreduce-appropriate-input-files-size (first answer,
second paragraph)

QUESTION 3

What data does a Reducer reduce method process?

A. All the data in a single input file.

B. All data produced by a single mapper.

C. All data for a given key, regardless of which mapper(s) produced it.

D. All data for a given value, regardless of which mapper(s) produced it.

Correct Answer: C

Reducing lets you aggregate values together. A reducer function receives an iterator of input values from
an input list. It then combines these values together, returning a single output value.

All values with the same key are presented to a single reduce task.

Reference: Yahoo! Hadoop Tutorial, Module 4: MapReduce

QUESTION 4

Which describes how a client reads a file from HDFS?

A. The client queries the NameNode for the block location(s). The NameNode returns the block location
(s) to the client. The client reads the data directory off the DataNode(s).

B. The client queries all DataNodes in parallel. The DataNode that contains the requested data responds directly to the
client. The client reads the data directly off the DataNode.

C. The client contacts the NameNode for the block location(s). The NameNode then queries the DataNodes for block
locations. The DataNodes respond to the NameNode, and the NameNode redirects the client to the DataNode that
holds the requested data block(s). The client then reads the data directly off the DataNode.

D. The client contacts the NameNode for the block location(s). The NameNode contacts the DataNode that holds the
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requested data block. Data is transferred from the DataNode to the NameNode, and then from the NameNode to the
client.

Correct Answer: A

Reference: 24 Interview Questions and Answers for Hadoop MapReduce developers, How the Client communicates
with HDFS?

QUESTION 5

You need to create a job that does frequency analysis on input data. You will do this by writing a Mapper that uses
TextlnputFormat and splits each value (a line of text from an input file) into individual characters. For each one of these
characters, you will emit the character as a key and an InputWritable as the value. As this will produce proportionally
more intermediate data than input data, which two resources should you expect to be bottlenecks?

A. Processor and network I/O

B. Disk 1/0 and network I/O

C. Processor and RAM

D. Processor and disk I1/0O

Correct Answer: B
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